1/0 do/dN

Ratio to ATLAS

=

[EEY

0.5

900 GeV pp Soft QCD
E' I I I | I I I | I I I | I I I :E
B Charged multiplicity(NCh >20,p_>0.1GeV) ]
oy _

*
== % IE
| N _
= * —
— "‘u,w 3
— . .
| ‘Y _
+..
.
= 4. —=
- . ]
- = 3
B ATLAS
= —&— Pythia 8.308 default =
- ¢ Sherpa 2.2.9 default -

Rivet 3.1.10, = 3.6M events

mcplots.cern.ch [arXiv:1306.3436]

El | | | | | | | | | | | | | | | JE
¥ ' ' T [ T T T [ T T T [ T T T H
— @ -
= 3 42
R -
- ¢ -
- e .
C ]
[ akkaask 11
N ‘ ]
N ¥y —

* e

ES 1
| .‘.“ 0.5

l L | | ¥ | l

20 40 60 80 100



	Contents
	Page 1


